No. | Changes and/or Note No. Date |Intr |[No | Changes and/or Note No. Date | Intr
@\ 2 j@
(co)
3 @ =
o
[ e—
[ e— 1
E W n ol
@90 @70 @5.0 @4.0
k A O o & 4 o[4)o L Alo
o o o o
T—N\ T\ T
\j/ \[l/ \—>:|
o o ﬁ o Fo
v T o v ofy|o vlo
1 1 Top MHD45ZK-9 Cover
Part Number: Description: Pack: 2 1 Bottom MHD45ZK-9 Cover
3 1 D45ZK-D1 Grommet
4 2 M3X10 Screw
6560-0106-11 MHD45ZK-9-K SINGLE — : UNG 4405325 Tack sorew
6
6561-0106-11 MHD45ZK-9 BULK 7
ltem QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-11-21 YGY
Auditing: APPROVED: REPLACES:
MH =
ICONNECTORS M H D4SZK-S E Rl ES DRAWING No:




No.

Changes and/or Note No. Date |Intr |No | Changes and/or Note No. Date | Intr
\ / N~
A
W d
14.6

9.0 @7.0 @5.0 @4.0
l‘ o o 4 o LA o #A4
o o o o
JT—1\ y/ 7
\[— |/ \[—/ \_I\:I
o o o o)

1 1 Top MHD45ZK-15 Cover
Part Number: Description: Pack: 2 1 Bottom MHD45ZK-15 Cover
3 1 D45ZK-D1 Grommet
4 2 M3X10 Screw
6560-0106-12 MHD45ZK-15-K SINGLE z 5 UNC 4-40X325 Jack Screw
6
6561-0106-12 MHD45ZK-15 BULK 7
ltem QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-11-21 YGY
Auditing: APPROVED: REPLACES:
MRR
MH =&
ICONNECTORS MHD4SZK-SER|ES DRAWING No:




No. | Changes and/or Note No. Date |Intr |[No | Changes and/or Note No. Date | Intr
= ] ™~
=
Sy et
14.6
9.0 @17.0 @5.0 @4.0
l A5 o A p L Alo # A 4
o o o o
/L—]\ JL_I\ /1]
\[ |/ \[ 1/ \[] ):l
1 R i
1 1 Top MHD45Z2K-25 Cover
Part Number: Description: Pack: 2 1 Botfom MHD45ZK-25 Cover
3 1 D45ZK-D1 Grommet
2 M3X10 S
6560-0106-13 MHD4SZK-25K | SINGLE | o B b
6
6561-0106-13 MHD45ZK-25 BULK 7
ltem QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-11-21 YGY
Auditing: APPROVED: REPLACES:
MRR
= &
Imc!:lm MHD45ZK'SER|ES DRAWING No:




No. | Changes and/or Note No. Date |Intr |No | Changes and/or Note No. Date | Intr
s
N > N~
h d { =
EWa (
69.7
14.6
! 63.5 ‘
@9.0 @1.0 5.0 @4.0
.L Ao # A 4 o| A 4 o|4)o
o o o o
/ \ JL_]\ /1]
\[ 1/ \[1/ \_'>]
(o] o (@] (o}
gRiRaXi
1 1 Top MHD45ZK-37 Cover
Part Number: Description: Pack: 2 1 Bottom MHD45ZK-37 Cover
3 1 D45ZK-D1 Grommet
4 2 M3X10 Screw
6560-0106-14 MHD45ZK-37-K SINGLE 5 5 UNC 440X32.5 Jack screw
6
6561-0106-14 MHD45ZK-37 BULK 7
ltem QTY Part Number Description
DATE: DRAWN: SCALE: MATERIAL TYPE:
2008-11-21 YGY
Auditing: APPROVED: REPLACES:
MRR

IMH

CONNECTORS

MHD45ZK-SERIES

= &

DRAWING No:




